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1.(4) e: {EEH f.q le, 7 9.(4) 1im _sinf %(H) §1.1#65,66
o HEH  Tigl o ‘ N »09+t1zm€ T 950 Gfrme §1.4#55
n: MERE f-og | e ‘ 0 ‘ 0 ‘ e = lim m (+2) = 5 (+1)

3.8) f(z) =z, gla) =vI—2, K fog WEEE Dyoy UK go f FIEERER Doy BIF, §1.2~#42

(sol.) Dy =10,00) (+1), Ry = f(Dy) =10,00) (+1); Dy, = (=00, 1] (+1), Ry = g(Dy) = [0, 00) (+1);
fog:R,NDf=Ry+1), .. Dpoy =Dy = (—00,1] (+1);
go f: Rf N Dg = [O, 1] (+1), .. Dgof = [O, 1] (+1);

4.6) f(z) =2+ 2 —4, M e-6 EE A lim flx) =80 (B # v —3| <1, |z + 4| (EEE?) §1.3#444
(sol) |f(z) — 8] = |2? —|—x—12|—|m—|—4||x—3|(+1 7{5|x—3|<5<1:6<x+4<8 AIE
|f(z) — 8] <8 (+1) Ve > 0, 45 6 = min(1,/8) (+1), |J:—3|<5(<1):>6<$—|—4<8 @75

f(z) — 8] < 85 < & (410

5.(6) (EBILEBCN=ZXTT4—], BERNWEE? (NMER PREEHE/EREE M) §1.54 47

(sol) BEEE », LEHMNRLER 2 = 22+ 1 0 & f(z) = 2° — x—l— 1 (v, R f(x) >0Ve > -1,
L (=1,00) RLAT 1), f(=1) = 10, f(=2) = =5 (), . Tz € (=2,-1) W f(z) = 0, &

r=2>+1 (+1)
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